/3 /4\ ! P’

X Sai |5

o Cx i B

’ P+ = 250 + 250 ~ Sve 47//m"
OCHOBA NPHSENBA | e

A= R*R 8

, | b

- 3752, 54;
o ';:,\(.",7, x a ; AA = ‘,’L'A Y0 o¢ : ’ -,ud/ = & “v“,/ . (5’ 20 e : V‘/(W“ 52&000 @/ W . J_}?gf ’ = .5—1._(’0@‘;

Y - " a . v 4 ,/' E id < Y 4 Bt
; i e - Qs g L HpPK o. / / ‘7‘ ; eé‘ﬂ/. J//,}7¢ ea ZW = fz‘ga g 3
s i S » PO ¥ SR A et ¢ (/e A b / 2
- o 55 iy S ey L A 46 M/ 5 2&4(} ew? < '—f;_‘iz.
3 SSERSSS

[ Nasto. 6 /
7= V 017;6: 28 au P o/€'= 20 e,

e L S

7 —

:
%
{ 9
) ¢
|
i
e 5 T RN TR R | —_— Py X ?O;’, '2j T £ ;v!‘ §
e R - AN B SOy V}:i, Eails D e ORI :,:‘_. :
v |
- e - L ‘ i
\
SR |
2 4 L3 x 2 - Wz i
N 2 16 ene
"0 3 P eq 7
| | Pt cm W J '1 e
wtiod | A% § o | \?’? -
- ¥ .ﬁ 4 f-;
o ' &£
/ i
s .
N S s
“ S By ~r— Z
’ Toz 1. Aoy . biethy Hoo %g/ M Pecne. iewe &S50 "/f/ 7 & 55 : i
—_——— / / Fx = -
— T FO= C ,;', g 4 /% /%' 189'50 1 \”
: - — ‘ ; 050 4.78*% 277000 - % ; :
i =2 o e = “ e | L Lkt ¢ 7'77 / 25 J ’{
; ce Vo 3 == 47800
i - 22 i - 78.00
| 54 <<V e [ o /
s e e Ecagl
B e L
/ ‘ P 7/ Vesth 2  EE 1
% ! li Ovres /;"J cC Fa w = Y ecee oo } /7" R = Ag/f o0 772
| 591 t 2 : e/ ! 7 7o = ;
( ‘4[’"_"”“y 7, v O I PSS S
£
” A
| ] 5 1 |
i W'
I Tez 4
¥ 4
, ,3»7;‘"’%(’_, —
b, 8 i
% 1 =\
- a4 4
‘e Ny
r g
&”* |
¢ |
i é é
!
|
i
]
" A i D L . s e —————————————————————————————————

WAG~G~ G4t~ 10

":t_"!“‘" {\9 |




